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QUESTION 1

0000 0011 1110 1000 00@1 .... .... ....

.
& & & @ 000. . & »

Refer to the exhibit. Based on the raw format of an MPLS header captured by a traffic analyzer, what is the value of the
MPLS EXP field?

D. 29

Correct Answer: C

QUESTION 2

DS-TE implementations on Cisco routers support which bandwidth pool(s) and class type(s)? (Choose two.)

A. global pool only

B. subpool only

C. global pool and subpool

D. class-type 0 only

E. class-type 1 only

F. class-type 0 and class-type 1

Correct Answer: CF

Differential Service Tunnels Differential Service Traffic Engineering (TE) is an extension of the regular MPLS Traffic
Engineering (MPLSTE) feature. Regular TE does not provide bandwidth guarantees to different traffic classes. A single
bandwidth pool (global pool) is used in regular TE that is shared by all traffic. In order to support various class of service
(CoS), the ability to provide multiple bandwidth pools is required. These bandwidth pools then can be treated differently
based on the requirement for the traffic class using that pool. In RSVP global and subpools reservable bandwidths are
configured on a per interface basis to accommodate TE tunnels on the node. Available bandwidth from all configured

bandwidth pools is advertised using Interior Gateway Protocol (IGP). RSVP is used to signal the TE tunnel with
appropriate bandwidth pool requirements.
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QUESTION 3

Scenario: On PE7 which statement is correct regarding the "traffic-policing” policy-map?

Enter the proper CLI commands and analvsis the outputs onthe Cisco routers 1o answer the multiple-
rhnice questinns

From the network tapolocy diagram, click on the router icon to gain s to the consaole ofthe router.
Mo console or enable passwords are reguized. C’

@
There are four multiple-choice questions with this task. thn answer all four gquestions before
selecting the Mext button.

kot all the CLI commands or commands Elpti?

&%uppm’[ed ar reguired for tis simulation.
I

Allthe devices in this simulation hawve heene gured and you are not requred to enter in any

configLrations.
.v'!

642-887 Practice Test | 642-887 Exam Questions | 642-887 Braindumps

and PE7 rauters and inte-pret the supported CLI commands outputs ta answer he four multiple ch s iy
questions. e

3/10


https://www.pass4itsure.com/642-887.html
https://www.pass4itsure.com/642-887.html
https://www.pass4itsure.com/642-887.html

VCE & PDF https://www.pass4itsure.com/642-887.html
2021 Latest passditsure 642-887 PDF and VCE dumps Download
PassditSure.com

Gio/1 @ Gio/0 Gio/0/0/0 @Giﬂfﬂfﬂlz
= PE7

(ISR-G2) (ASR9K)

In this simulation, you will have access to the PE7 and CE7 consol
Click on the PE7 and CE7 router icon to access the respectiv ns
PE7is an ASR9K and CE7 is an ISR-G2

RRMORSPOC FUDPET

RP/0/RSPO/CPUO: PE74# I
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A. The "traffic-policing” QoS policy is applied to the Gi0/0/0/0 interface in the outbound direction.

B. The "traffic-policing" QoS policy will police the traffic matched by the "test12" ACL to 3 mbps and will drop all
exceeding traffic.

C. All incoming traffic not matched by the "test12" ACL to the Gi0/0/0/0 interface will be dropped.
D. The "traffic-policing” QoS policy is using dual rate class-based traffic policing.
Correct Answer: B

#show running-config policy-map #show policy-map

QUESTION 4

Which two factors must you consider when configuring MPLS EXP? (Choose two.)

A. MPLS EXP marking is supported in the egress direction

B. A packet that IP ToS classifies at ingress can be reclassified by MPLS EXP at egress
C. MPLS EXP marking is supported in the ingress direction

D. MPLS EXP classification for bridged MPLS packets on EVCs is supported

E. A packet that MPLS classifies at ingress can be reclassified by IP ToS at egress

Correct Answer: CE

QUESTION 5

Drag each of the QoS mechanisms on the left to match the correct description on the right. (Not all options on the left
are used.)

Select and Place:
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Cirag each ofthe QoS mechanisms on the left to match the correct description on he right. (Mot all options on the left are used.)

Zan drop excess tramc beyond the commitied rate and remark

Ll
noncanforming Tﬂﬁ:lf_ﬁ{_t hefore transmitting it.

Usetn a\,_'rc'r_i'tli".ﬂ"ré TCF global synchronization problems that occur

LFI %)
when talk-grop is used asthe congestion avoidance mechanism.

TS

5 O] Brovide & strict priarity quede to allow delay-sensitive data such as

trafiic shapin -,
ik \,';\f;-.j\ | woice to he dequeued and sertfirst,

WRED =\ Excess traffic heyond the committed rate will be gueued and
;,\k—f/ scheduled for later transmission. Only applied in the output direction.
(L7
o) 3
CEWFQ

traffic palicing

WEGQ

Correct Answer:

Drag each ofthe QoS mechanisms onhe leftto match the correct description anhe right. (Mot all aptions on the left are used)

trafiic policiig

LFI WRED

LLG
&y traffic shapin
e £t
[ifed \\2:')/
=\
CBWF G
WFGQ

QUESTION 6

On a Cisco I0S XR router, which mechanism protects the router resources by filtering and policing the packets flows
that are destined to the router that is based on defined flow-type rates?

A.LLQ

B. LPTS
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C. Committed Access Rate

D. Control Plane Policing

E. Management Plane Protection

F. NetFlow

G. ACL

Correct Answer: B

Local Packet Transport Services (LPTS) maintains tables describing all packet flows destined for the secure domain

router (SDR), making sure that packets are delivered to their intended destinations. The Low Latency Queueing feature
brings strict priority queueing to Class-Based Weighted Fair Queueing (CBWFQ).

QUESTION 7

Which two considerations are important when implementing a Cisco MPLS TE NHOP or NNHOP protection? (Choose
two.)

A. The head-end router requires configuring high priority for the Cisco MPLS TE tunnel.
B. The head-end router requires configuration for the NHOP or NNHOP protection request to occur.
C. The reconvergence time must be no longer than 10 seconds.

D. The Cisco MPLS TE tunnel on the Point of Local Repair implementing protection requires configuration as backup
interface.

E. The tail-end router must be aware of the request for NHOP or NNHOP protection.

Correct Answer: BD

QUESTION 8

Which QoS mechanism is used for congestion avoidance?
A.LLQ

B. CBWFQ

C. WRED

D. LFI

E. traffic policing

Correct Answer: C

QUESTION 9
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Which method is used to mark traffic matched by class-map MY_CLASS as Expedited Forwarding?
A. set ip dscp cs7

B. set dscp cs7

C. set dscp 46

D. set dscp 45

Correct Answer: C

QUESTION 10
How is bandwidth recalculated when utilizing the automatic bandwidth adjustment feature for MPLS TE?

A. The tunnel\\'s output average is periodically sampled and then the bandwidth is adjusted to the largest sample
obtained during the period, or to the configured maximum

B. The tunnel\\'s output is sampled and then the bandwidth is adjusted by a configured percentage until the configured
maximum value is reached

C. Ping is used to measure congestion and the bandwidth is adjusted by a configured percentage until the maximum
value is reached

D. Ping is used to measure congestion and the bandwidth is adjusted to either the minimum, average, or maximum
configured bandwidth value

Correct Answer: A

QUESTION 11

Which two options are true regarding the Pipe and Short Pipe MPLS tunneling models? (Choose two.)
A. In Short Pipe mode QoS is done on the PE-to-CE link based on the customer\\'s PHB markings

B. In Pipe mode QoS is done on the PE-to-CE link based on the service provider\\'s PHB markings

C. In Pipe mode QoS is done on the PE-to-CE link based on the customer\\'s PHB markings

D. In Short Pipe mode QoS is done on the PE-to-CE link based on the service provider\\'s PHB markings
E. Short Pipe mode does not need MPLS usage, but Pipe mode does

Correct Answer: AB

QUESTION 12
An engineer wants to implement constraint-based routing. Which MPLS application should the engineer use?

A. unicast IP routing
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B. MPLS VPN
C. MPLS TE
D. RSVP

Correct Answer: C

642-887 Practice Test 642-887 Exam Questions 642-887 Braindumps

642-887 Practice Test | 642-887 Exam Questions | 642-887 Braindumps 9/10


https://www.pass4itsure.com/642-887.html
https://www.pass4itsure.com/642-887.html
https://www.pass4itsure.com/642-887.html
https://www.pass4itsure.com/642-887.html
https://www.pass4itsure.com/642-887.html
https://www.pass4itsure.com/642-887.html

VCE & PDF https://www.pass4itsure.com/642-887.html
2021 Latest passditsure 642-887 PDF and VCE dumps Download
PassditSure.com

To Read the Whole Q&As, please purchase the Complete Version from Our website.

Try our product !

100% Guaranteed Success

100% Money Back Guarantee

365 Days Free Update

Instant Download After Purchase

24x7 Customer Support

Average 99.9% Success Rate

More than 800,000 Satisfied Customers Worldwide

Multi-Platform capabilities - Windows, Mac, Android, iPhone, iPod, iPad, Kindle

We provide exam PDF and VCE of Cisco, Microsoft, IBM, CompTIA, Oracle and other IT Certifications.
You can view Vendor list of All Certification Exams offered:

https://www.pass4itsure.com/allproducts

Need Help

Please provide as much detail as possible so we can best assist you.
To update a previously submitted ticket:

Submit A Ticket

One Year Free Update Money Back Guarantee Security & Privacy

Free update is available within One To ensure that you are spending on We respect customer privacy. We
Year after your purchase. After One quality products, we provide 100% use McAfee's security service to
Year, you will get 50% discounts for money back guarantee for 30 days provide you with utmost security for
updating. And we are proud to from the date of purchase. your personal information & peace

boast a 24/7 efficient Customer of mind.
Support system via Email.

Any charges made through this site will appear as Global Simulators Limited.
All trademarks are the property of their respective owners.
Copyright © passditsure, All Rights Reserved.

642-887 Practice Test | 642-887 Exam Questions | 642-887 Braindumps 10/10


https://secure.livechatinc.com/licence/8041871/v2/open_chat.cgi
http://www.tcpdf.org
https://www.pass4itsure.com/642-887.html
https://www.pass4itsure.com/642-887.html
https://www.pass4itsure.com/642-887.html

